
Complete the calculations with the right words in Spanish. 
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uno 
dos 
tres 
cuatro 
cinco 
seis 
siete 
ocho 
nueve 
diez 
once 
doce 
trece 
catorce 
quince 
dieciséis 
diecisiete 
dieciocho 
diecinueve 
veinte 
veintiuno 
veintidós 
veintitrés 
veinticuatro 
veinticinco 
veintiséis 
veintisiete 
veintiocho 
veintinueve 
treinta 
treinta y uno 
treinta y dos 
treinta y tres 
treinta y cuatro 
treinta y cinco 
treinta y seis 
treinta y siete 
treinta y ocho 
treinta y nueve 

a. 12 + 9 = veintiuno 

b. 8 + 11 = 

c. 3 + 6 = 

d. 17 + 5 = 

e. 15 + 15 = 

f. 12 + 14 = 

g. 2 + 15 = 

h. 17 + 16 = 

i. 7 + 4 = 

j. 38 - 9 = 

k. 28 - 13 = 

l. 36 - 13 = 

m. 4 x 7 = 

n. 2 x 5 = 

o. 9 x 4 = 

p. 18 ÷ 6 = 

q. 36 ÷ 2 = 

r. 39 ÷ 3 = 



ANSWERS 
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uno 
dos 
tres 
cuatro 
cinco 
seis 
siete 
ocho 
nueve 
diez 
once 
doce 
trece 
catorce 
quince 
dieciséis 
diecisiete 
dieciocho 
diecinueve 
veinte 
veintiuno 
veintidós 
veintitrés 
veinticuatro 
veinticinco 
veintiséis 
veintisiete 
veintiocho 
veintinueve 
treinta 
treinta y uno 
treinta y dos 
treinta y tres 
treinta y cuatro 
treinta y cinco 
treinta y seis 
treinta y siete 
treinta y ocho 
treinta y nueve 

a. 12 + 9 = veintiuno 

b. 8 + 11 = diecinueve 

c. 3 + 6 = nueve 

d. 17 + 5 = veintidós 

e. 15 + 15 = treinta 

f. 12 + 14 = veintiséis 

g. 2 + 15 = diecisiete 

h. 17 + 16 = treinta y tres 

i. 7 + 4 = once 

j. 38 - 9 = veintinueve 

k. 28 - 13 = quince 

l. 36 - 13 = veintitrés 

m. 4 x 7 = veintiocho 

n. 2 x 5 = diez 

o. 9 x 4 = treinta y seis 

p. 18 ÷ 6 = tres 

q. 36 ÷ 2 = dieciocho 

r. 39 ÷ 3 = trece 


